ATuwWl §
EVALVATE EXPEESSIUNS Sove EQu
R e el

‘:“\Jb T™e VALY L
TWE €XP2EDS) 0N

F‘N'D THE \J ALY €

OF
OF THE JAZinALe (x)

Solve Two-Step Equations

Goal - Solve two-step equations.

— i =
Yok Notse IDENTIFYING OPERATIONS Fog (2 STEP E{Nﬁ'ﬂou!i |
e Identify the operations invalved in the equation
R - . ¥
= Sauee —> [[HET=19. | Aesr ALwavs EiMoLiFd  Borw 3;5551
Eauanvns You 6) STErA - UnsDhe Aop / SURTRALT U
SEMDLATE s - G  selr . unbe smuet / pidisien
@ You PIUST HLWANS LHecx RY Sugstitimive

IN THE CR(CIMNAL £ QUAT uny .

m Solve a two-step equation
Solve 3x + 7 = 19.

Solution o

When solving a
two-step equation,

I inve . o .
Alply erinverse Write ariginal equation.

S 3x 4+ =19
operations in the r
reverse order of theJ/ = =7 Subtract J from each
l p = l

order of aperatians, ide.
) X Z. sl
rene Simplify.
=
Divide each side by =
Simplify.
~ LiwelE s
CHECK
3x+7=19 Write original equation.
['A
3(4)+7 219 Substitute “f for x.
12 4+ 7249 - Multiply 3 by 4 .
>
1] =19 Simplify. Solution checks.




Your Notes )
@ Checkpoint Solve the two-step equation. Check your
solution.

L “2—-.?“-]2-:’5 ¢ 7(3\—1‘-{=1+2__ L MM IR
Fll =5  Ha=2 e O
-S> -5 Chcb\ﬁb
=

Example 2 @;e a two-step equatioﬁly combining like terms

Solve 4a + 3a = 63.

Solution AL ANS QM pusFH
4a + 3a = 62 &——— Write criginal equation. BO T G DES B2 il
%m - G2 Combine like terms. Ye+3a< Ta
7 7

Divide each side by °

Simplify.

CHECK

a4

4a + 3a = 63 Write original equation.

Al 4 +3(9) 263 € Checle i orie EQ
3L + 27 263 @—5’!’%2.T03t- CArLC Foeo ArathmMET
L3 =ont € Bhin Juvesineg Checks
.

@ checkpoint Solve the equation. Check your solution.
——

l3.5z+4z=36 4. 5h—2b =9
xg:‘ow. §B§>=‘i
9 2

- 5 (4) 14('0=3‘_' & 5(33-1(3\ =9
3t =36/ IS-¢=
99/




Your Notes

Solve Multi-Step Equations

Goal - Solve multi-step equations.

Solve an equation by combining like terms

Solve 3t + 5t — 5 = 11.

Solution \l&/ SimPLy "y SE T
© B Write original equation. A Lod AY S
CGT ;’ "::ﬁ Cnmbim? like terms. SIM P B
. i Add S to each side. RoT™ 51 0SS

Simplify.

Divide each side by S’

Simplify.

3(2) +S(2) - € = \l‘
=i

Solve an equation using the distributive property

Solve 5a + 3(a + 2) = 22.

S'c\.'\*%& + L = 22

Show All Steps <6'QL ¥ = 22
o b

% C“, 5(2\+5(2+1\ = T L

ro+3(9) = 22

ja#\L =®%

2 & 22;/"'-



€2 checkpeint Solve the equation. Check your selution.
r'"_"-\ o =

1. 9d — 4d - 2 = 18

51)?1

22.x+?{x—3} = §
2X 47X~ = L

9 x -RL/: 6
D 9.0 +0 2/
% -S ﬁ_&: b o
@ ¥ 9
%=3)
C: q)-4(4)-2="8 -
-V -7 =\ B ¢ 2(D+UF3)= 6
|g“i‘6\/ (;v:klr"
@3 L LEMR Multiply by a reciprocal to solve an equation

Solve %(a - 5)=a,

Solutmn

(..3 {a = B)= 9 3_) Write original eguation.
= 1 (a - S) 3"/3 mlltipiy each side by H%:I

Mf/‘ a-S =1z
st + i /\

- %—(m—s\:q
3/q(|z\ =9

5 =N

@ Checkpoint Solve the equation. Check your solution.
£ A
l':s] S(@x—2)=17

2x =\/="T1
F¥ »

x=8
/\T_ﬁ%
0: L (44-2)=T
L { -2) =T
2=

Vil

| 3. 40 =

f__'-—u\-‘_‘-
2(10 + 4k) + 2k

Yo = 20+ §¥% +2K

Yo = \oni

-20
2 =

jO 1

L: Yo= 2(10+4(1\\+z(’0

o=z Ig) +1
Yo = 40/

dw ANS TO Sd=d&e TS

PeodLem
(1) DisTRiGuTe 3y

MOLT\BL Y

BOhTH Sioes BY
. Tw e REcirrocal



EX HMI &'s {—|§(even)

G=% ;q.) CER N
G;J = l }"o) P: {0
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> =&
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\E .
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At = X+4 F9IX 3)0x —/0
=8 21 = ISk ?/
+e
D=12 30 ISX
= S
KT %3250 /icket ]'ﬂm dides are 441— ?—41- /uﬂ
plos $3.30 /trcket = =,
PlUS $§-CIG pe~ O-~des DEFmNe £q:
Totel spending = $420.70 (33250 +$3.30) X +5.90 222670
f#=2—b——]

DEFINE vAaR)abLS -
X= s +ickets bouak‘r
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E auAmgads

HAJUE

2 r\i l’)‘f— s oF SOLTYNS

———

(i) 4 seromioms [X= x|

2) No S oLuTioN IX

W ‘\
“E%‘\

3 ALL REAL MUMBEES

(D) prweays

STM P FY Aot

Collect variables
on one side of
the equation and
constant terms on
the other to solve
eqguations with
variables on both
sides.

1

P~

S\1DeS

@, GET THE UARAARLE oN

DNE SV OE
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Solve Equations with Variables
on Both Sides

Goal

. Solve equations with variables on both sides.

VOCABULARY

Identity Meons thet on equAaTius]

1S TRuUE Foe wNY VALUE oF X.

SoLuTloN —:-7[?= a\\ reecl num\;rrg]

Solve an equation with variables on both sides

Solve 15 + 4a = 9a — 5.
Solution o

15 +4a=9a—>5 Write original
=Ny~

equation.
o Subtract A from
each side.
e g Simplify.
o (1) add S to each side.
20 = _%f_ Simplify.
S—p‘_ = @ Divide each side
by =
Simplify.

The solution is

CHECK
/—X)‘ I~ original l
.0 euuation-h'-#

15 + 4( q) 2 9%+ % )—5 Suhstltute  for a.
15+ b 2 3¢ ~5 Multiply.
3 =Jl v Solution checks.
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Your Notes

c: 3(1)47=50)+2
|o :10/

8 (Check

Solution

Solve an equation with grouping symbols
Solve 4t — 12 = 6(t + 3).

4t — 12 = 6:(;;: 3) Write original equation,
4F-12 = T +\8  ypistributive property
-AT i . *Subtract /T from each side.
___"l;' oo ¥ ,‘\g *Subtract |€  from each side.

¥ Divide each side by Z.,

— l S— ,__72 :_.,.7"2 //

0 Checkpoint Soive the equation. Check vour soiution.

-230=A4T
IS = %’rr £: H(=19) 422 6(=1s +3)

3
| 1'36+7=“%%+2 2, 6d—6=§—(4d+3) c:é(")“o" r,"('l"f*'
:—t,, - QQ;_._{. ) 6D~b=3pte 24-L = /4 (10
— e Sl =30 : —— A 1= 15+
2
—— -4=6
A o828 () e /
g 35 o)
)

'5’?5???\
CASES

— bt
iy byt
Chfac rlfo:-h:ecd% nfe

=y wihen e Qenrie Lie

\'E} 4 + 5 = 4(x + 5) Original equation drops oot Ane
‘-lﬂzﬂrs =AY FC istibutive property /i o gmBERs Do

=X
NOT € @uAaL THEN
5#20F)

THERE S NO SoLuTew.
(?_:r NO SoLuTo

- —
@ex—szatzx-i)
when the

8 ,(':3 = (5 o-'_S Distributive property
l Yhe pumbess ave
-—SZF3® QEQ\JAL THEN THELEILS

And TNFRTE NUM B
JF SaLumonds.

Identify the number of solutions of an equation

Solve the equation, if possible.

~J

o [x=¢)

Original equation

[X= AL Renc mumeens |

e T o.--,‘g, 'S S‘QI::JTT Y]
X = _—— L A “‘ "

X5 —m G=9 ; a M
x: 5_"'_%’ szlSv i [ L
x=4 —> =2 +



Your Notes

=

E[ 4xX -3
I.l

1]

Yy = \i
et Wi '8
X =0
e: 4lor— =3(6-1)
= e

Copyright @ McDougal Littell/Houghton Mifflin Company.

O Checkpoint Solve the equation, if possible.

f-‘\ i \ o

2(4t—6)—2t N(%T«LJ;ZI-
/ 3= o?j g Waade =
3 {0

\ |

‘-’]’z N6 SoLuTiod

———

—
-

4.10m — 4 = —'2’{?-— 5m)
& G

[ogh-4 = ~H+re
P B e —

g »=<(5)

X = pLL REPL Num &¢2S

I DEANTY

Boar AANSWER

STEPS FOR SOLVING LINEAR EQUATIONS
Step 1 Use the distibKve pra Prrﬁ‘ to remove any
grouping symbols. '

Step 2 S'imeli{# the expression on each side of the
equation.

Step 3 Use the properties of equality to collect the
crio\e terms on one side of the equation
and the Conigtent terms on the other side of
the equation.

Step 4 Use the properties of equality to solve for
the Veridhol e
Step 5 Check your Solwtiunl in the original equation.

Lesson 3.4 =
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m Write Ratios and Proportions

Your Notes

B0 Lesson 3.5 « Algebra 1 Notetaking Guide

Goals - Find ratios and write and solve proportions.

VOCABULARY

@The vse ot diuision +o
Compare A QUANTITIE S

Proportion 3 RA TIoS THAT AR E

AN enNT . EXAMPL E ——

=

> RATIOS
1. A ratio usesb; Visiod o compare two quantities.

2. The ratio of two guantities, a and b, where b is not
equal to 0, can be written in three ways:

_% _C_)_;_‘n \CL ‘tob\

3. Each ratio is read “the poe of a to b’

4, Ratios should be written in ‘S\mc\tﬂ‘ form.
SXAM

L&

Write a ratio

Cell Phone Use A person makes|6 long distance calls and
15 local calls|in 1 month.

e
a. Find the ratio of long distance calls to local calls,
b. Find the ratio of long distance calls to all calls.

Solution
long distance calls é _ i_
e local calls - 5 - 5
long distance calls é Ui 2_
all calls = o
\\. o ﬂ?l —?'
_ " |
e+!1S

Copyright @ McDougal Littell/Houghton Mifflin Compary.
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Your Notes

@ Checkpoint Shawn and Myra are selling tickets to their
school’s talent show. Shawn sold 36 tickets, and Myra
sold 44 tickets. Find the specified ratio. o

1. The number of tickets Shawn sold to the number of
tickets Myra soid

ante . 3¢ 0%
MIRA T 44 Ty

2. The number of tickets Myra sold to the number of
tickets Shawn and Myra sold
MY RA [T}
20

Torwt = ?Zl_

MSMW a proportion

.
Solve the proportion 5=

Solution /_/’"'"_ e 1\
&Y -

Writ rtien.
- rite original proportion

\ l‘.l'llll'.n:l|

Use the same
methods for solving
equations to solve
proportions with

a variable in the
numerator.

[lResS yMOLTIPLY 89 =3 -5
AN DiVioE

& checkpoint Soive the proportion. Check your soiution.

<)

M=) 4@%

‘%:QXZS §é=7-32
i K

c=es |

9 _ L3/, C 23i32, = ¢
- g/‘f e X V575 2. 8§15

5 = 2A8 o
Copyright ©@ MeDougal Littell/Houghton Mifflin Company. Lesson 3.5 = Algebra 1 Notetaking Guide 61



Your Notes Solve a multi-step problem

Swimming Pool A empty swimming pool is being filled with
water, After 5 minutes the pool has 400 gallons of water.
If the pool has a volume of 11,200 gallons, how long
does it take to fill the empty pool?

Solution

Step 1 Write a proportion involving two ratios that
compare the amount of water in the pool to the
amount of time.

400 _ ”,200 <— gallons Ro,-Hb iis Ba.'ttws + My AN UTES
5 X <« minutes

Step 2 Solve the proportion.

tg x = 5 (1100

YOO~ Hoo

(x=140)

74

mol is full after |90 minutes.jo& 2 HouRS AND 20 mnN
! — L

ey 0 Ccheckpoint Complete the following exercise.

Homework 5. An Olympic sized pool has a volume of 810,000

gallons. If it is filled at the same rate as the pool in

Example 3, how long will it take to fill the pool?

. = W agl e
\ )| Rate: Hoogelons : %10,000 3a\ PA S TiMine
& Paina¥s N =
M = S(%\olo"“;'
62 Lesson 3.5 = Algebra 1 Notetaking Guide pyright Mifflin Compary.
Yo Yo .

M= 10, 12S Mingtres )

16§25 hys
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Solve Proportions Using
Cross Products

Goal - Solve proportions using cross products.

VOCABULARY

Your Notes
Cross product

a C

r 4
Cq"o%% e C": s b -
Prodo ¥ 3 \h{{ :

NoteE 1F Twe& (CRoss PaooocT S
ALE ETQUAL THEN it 15
A TRUE ProPoeTion .

CROSS PRODUCTS PROPERTY

Words The cross products of a proportion
are EQUAL.

SN 10 =60 They are e ou
- b " GJAa -
e §535 511500 ™

Algebra If 2 = < where b # 0 and d # O, then
ad = b

Copyright @ McDougal Littell/Houghton Mifflin Cornpany. .esson 3.6 « Algebra 1 Notetaking Guide 63



Your Notes m Solve a proportion using crass products

-
Solve the proportion y -~ 75"

Solution

% Write original proportion.

%1:.-‘5’, s Cross products property
|y=45 | 5 s Qe

—- O . —
The solution i e ¥ 9 <
L ab o
Sk 1

S0 T Write and solve a proportion

Plant Food To feed your plants, you need te mix

8 o 3 tablespoons of plant food with 16 ounces of water,

e if it takes 80 ounces of water to feed all of vour plants,

AT Seod with Ilsz weker | Fow many tablespoons of piant food are needed? |£— heF e UA LiABLE

&)02_41: g?_fé ?'1(.-1“"5 m
Step'3 Write a proportion involving two ratios that
compare the amount of plant food with the

C—Z_T'%_'?_EL amount of water.
V AR ABLE . _>S_ <« amount of{ plant food

¥ = wot T ot ?\.;A fad T-{; R <«— amount of water

- Ste Solve the proportion.
T most hee UNITS & i

!@(X =3 'E'@ 5 Write proportion.
Te_ T
= Cross product property
N Simplify.
STEPE (WRITE ANSWEL (N A SENTENCE

ou need 1§ tablespoons of plant food for 80 ounces
of water.

>
\
%

(23

64 [esson 3.6 ¢+ Algebra 1 Notetaking Guide Copyright ©® McDougal Littell/ Houghtan Mifilin Company.



,' ;'___- many tablespoons of plant

;k - 3(ms°) Jeed 225 hbies
= —\-(- Lot S d
S P
o AL ¥
Kx: T CER Use a scale model
—
Scale Model An architect creates a scale model of a

school. The school is 50 feet high. The ratio of the model
to the actual school is 1 foot to 75 feet. Estimate the

gb‘c’\' ? height of the model.

5C- l'.‘ld\ 5
: \:‘::\‘\_4 \ ¥ Solution

Write and solve a Qroportlon to find the height h of the

Scole §ackr }#4 =75 £ scale model.ﬁ,gc Nec'®
g «— height of del (feet) | . )
*_l’i'_.,l_ ) eig o.mo.e(e Rekio
\}cm\ u\«;b 50 7S «— actual height (feet)
:——-‘\“" __J\’\* o4 Yae N W =S© Cross praducts property
= e (xﬂ 7 75 Simpliy.
H=7l3
\The height of the scale model is </ 5 foot, or & inches, >
L 2 7

13

o Checkpoint Complete the following exercise.

4, In Example 3, suppose the ratio of the model to the
actual school is 1 foot to 100 feet. Estimate the

height of the model.
eight o e e 'k ‘Q“Cxﬂ,

See
MooeL B "‘/

- TEE——

ACTUAL 50 ~ leo

Copyright @ McDougal Littell/Houghton Mifflin Company. l B = ._-teﬂs.:dson 3.6 ¢ Algebra 1 Notetaking Guide 65
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lm Pg V71 iy 13 19-25 33-3¢

@ u _ _23 L _ 2x+s
W w+a4 3 X
. u(wuq £ BB 7x= 3 2X+S )
2L - z_zm {x =
ltu = 1?_ :__h__: 3 |
SR
J. ol —'z=“;: rsﬁ at 4
Qo. a = - 5z +4 -1
% = Q-2 At (2-0) = 4 (sz+4)
.8 =0 | 47 = Ho
,’a_:;l -1 Lé*t(ﬂ
¢~-8.  _ |1-4¢ K-8 _ <L
) - =4 i [_2_5__1 Frk s
n(e-g) = -?.(u—%c_\ s(K-g) = - (Kﬂ)
NC~-98 = ~224+QC S K-Ho = =K =7
3C = LG LK =35
[caa) Kos.5 ]
2 ‘fl/'f"’l’ m+| am +bk
JE =3 Zv+i IE 4 = 75
o QV'H‘J\\) "5(“*V+L0 7(”]“) - Lf(.’:m-ﬂ.:)
Hv +3® = 137 ~| Fm+F = [2m+2Y
I—-_ .--_."'“Lj_l_) = r_;_, o~ 'ﬁf”
[V ="3.5] [m=-34]
\L/Sv\‘ C.= 6 = _‘L’)/ 9‘
Bis¢ui s liﬁl 12 BISCuITS 3o Biscoits ]i—ﬂ T.am\n X mja odn |
20 PLova — X ¢ Flooa § PHoTo's™ 20 PRorp s T Prem
Y= ’H‘. -E-Imf" X’ 5 - ”\: l E = *Phn’h
: Wik Thaws |8 M
]Nu,c‘. &5 CuPs FLove \ To vProad ad P&w’muJ
WP T we
7.2 _ x
2a

S
‘ qf‘f“’ — 1z - 3= Praprods o= /.2 _
:



e ]
\N 36 X Hw ExTea Ceenir
"rpch_\‘i-,l 'y 3s-39

(D i kn g

| &m bem

3

[35

£5

lsg /‘ | CJ'V'I‘- 5 eSoem D=7.5 ‘b;s'fmgc. ‘]]
~M

@f ~=0 . dem D=70.5 )FD'““"‘-& ;51—/
l

ke ” B [:b-a'rm:.ew qo ij

Ll em _ 3.2em D= 4g Distance 15 |
/5 Km D 48 Km

is Zs R

2 4

| S Kkm D

70.5 km

B—‘ﬂ KX . Meber 4dm :3dsSm

EMPiee sTRTE 1s Y443.2 m
Whoav vs 4o hein/ta of “he modd?

H= model he-am (m)

- H

as = 443.2
Hv3.2xA
R S=o—=
He 11,228

« [Model 15 11.738m +AD
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m Solve Percent Problems

Goal - Solve percent problems.

—e

SOLVING PERCENT PROBLEMS usme[&noronnons mEeETHOL 12 l

Your Notes
You can represent “a is p percent of b” by using the
proportion T
. 5 S . Do
- = OR of /00

b 00| —7
where a is a part of the base o and PAon or p%, is

the :qutw\':
W 0‘7\
})\E"{ m Find a percent using a proportion
\ /< What percent of 50 is 33?
____—-—- — —
\ = Solution
Write a proportion when 50 is the base and 33 is part of
the base.
éi 2 —w  &=Write proportion.
50 loo

Z
e 2
E 59 Sowsé

S = @ ¢ LGross products property

33is % of 50. . Tond Sgdf))* 70 St~

-
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Your Notes

METhot-. TIT> 7,

S = ydo
0 Checkpoini Use a propoition to answer the guestion
1. What percent of 80 is 287 -1 5
P 23 2 Ry
_".‘-\/ W _‘&-&:—3 4 |

o= g0 =
v STETS

2. What percent of 90 is 36?7 y I
P 3¢ OGP . e
e & Rt

P=%%
=y

W
\ /§ / BQ a=P%-b
T where ais a part of the base _b_ and p% is

THE PERCENT EQUATION
You can represent “a is p percent of b” by using the

equation:

\\’////,/”’

| ¢ AN SLATE
s ol e St

—

‘\1%Q M E€end ——
muLﬁV‘B

M ecnd

) OF'!

\) covclotes
? = ?crceﬁ’\‘
N = nuw\W

Copyright © MeDougal L

thP_Fugngxt.

Find a percent using the percent equation

What percent of A50 iLs loo ?@woe_o s
/ / TRANSLATE
P o2 e g

JE—
2 5o Z5° @) SOLVE \T

[ . oe A
- ;_—,.;*;: G —3 dedimils

Write decimal as a percent.

,m_\ (P=toh)
CHECK 1 %\ Drapor 4 on mg{mr/

Pe oo
Joo T zsv
~ Yo . 25D = |0O.10 CTUSSF{GJ‘UC+5
00 O = P
lop O ]QJOOO v

ittell/Houghton Mifflin Company. Lesson 3.7 =

2 e
diwide

5{z
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WweatTE
Your Notes

Find a part of a base using thelpercent equation
I

—

What number is 75% of 300?
- & T =

Solution
N =,75e300 Write percent equation.
e C\’\Q ) 2. (70 ‘S do
@-3a5 S
42_1.-‘)-
S Vi
B 300 =100

—
AAS is 75% of Zoo |

2_7__)5'00 = 2.?_, S0 v

0 Checkpoint Use the percent equation to answer the
question. ——

215(16a) = 300 (7s)

3.)What percent of 75 is 602 ,

/
.

— — = :'g'

4. What number is §a% of 80?

\

1

c:le(_xm.c\b \ \

Chedew I profor i/

0, go O
00 - 7S

50 (1) = 60164

= , vde ¥~
é‘odﬂ /

N 2.4 &0 (: 32 4o
B a 6D
(N =32) - "
= 3! 100 = 3] 20a
TP Find a base using the percent equation
25 is Jd.5% of what number? - -
Solution ~— CL\M‘GL Jgy>" -
Write percent equation.
| 3s =, U
Ty Nyt ey
\N LSZUU
pem————— C 9 IJ 5 Z5
A5 is [25% of AC0, o {O-D 700
L.
2, o= 450 og

68 Lesson 3.7 = Algebra 1 Notetaking Guide
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Your Notes

EQ"'—_-"‘) ' éo =

EQ —

o Checkpoint Use the percent equation to answer the

guestion.
5. fhs 25% of what number? 1 Propuium
;gl. N ’ﬁ)i= Z=
A% foga’ N =Co-pea
N as . =%,

>

-

o] ¢

6. 78 is 150% of what number?

-\ o M
YIS=150 7s" _ Is®©
—[_1:6_ 1.2 ;I 1Q9 2
ne 150 ipn = 75° *'-’"‘*._,)
o i T s
[ 8%
- 7S50 [$D _ Iso
he<e -‘3“'\} n=-3
v
TYPES OF PERCENT FEqQuaTal s
Percent Problem Example Equation
Find a percent. What percent .
( ) of 25215842 P+ 252 = %4 S - =
Homework
Find part of What number ~ oF ~— X
a base. is 30% of 907 M =% 50 Qo ‘
C‘hfc'\ & 90 5
Find a base,. 16 is 20% of ey i s &
what number? /(, = . o N CEMeD
| S
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M) I8 Twe smreme~nT 1 59 is IS oF 360

ANSWER: Percent is IS, Is (’M)_ P
Part (35) i3 54, oF (Base) ioo

Dase CDF’) 15 3Lo.

@ YA 1. IS 3% oF P0" . Propo-iton s 48 3F
- x b o g0 * Juo
Goes in ent Gon 8
Nomera tor P.'I;O .38 Db s

3] ‘",-E- P« Is=01 [q] 35‘ N N=3530
75 loo - So

.-—'?',,?\P 'Ba3t '-———M_ ==
Q

1\
F| & sy (N = IS0
N T
ol Tl = .s4e N

s _ P (U] Pe. Is3=9,18
P>.06 \

\% ,65‘:/ S A S A
U (Pz10%) P e

N s J'S] 7 =.38 « N




- EQ  Pegpuerign
@ P:12c =t I 7 S I
ps.5S 2" ©®
o . B ‘p=S§%
@ m=le-ss L N 00000
= N=S1) .
i R
Q) 4a= 3008 o0 42
(@8] P -225=91 P9
I | — P= 4% . /00 7 2z§




KEY

m Rewrite Equations and

Formulas
Goal - Write equations in function form and rewrite
formulas.
Your Notes
VOCABULARY
| Function form] =5 The SAmEe As|Y=m x+8]
F)Mcﬁdw Foem % GIVEAN AN & QUATIYAT LUITY A Aang Y
_.___________—-—"_'___._-__-—- —
\ Yow Tsowae Y (Y= 5
VY Literal equation ove CQOATION ITH
Y:m )(—\-\3 Z 0R MOORE UARLAALES
-~ 7 (AKA Le ters)
./ %fn{‘f ."'(.EP—"
Slope " g ;
m Rewrite an equation in function form
Write 2x + 2y = 10 in function form.
Solution

Solve the equation for y.
2)54— )= 10 &——— Write original equation. -LSOLATE ™/
- _gjifg 410 Subtract AX_from each side.
M;,;&’f Divide each side by _ 2» (ALL TE s DivinE 13}!?_)

The equatiort y ==X 15 lis written in function form.
.

N

Solve a literal equatl'lg
Soive(a + by w

Solution, i e\
@+ by =c¢, & Write original equation. ccn i Solue Lor a

&R ono o, Subtract b‘l from each side.

The solution |s}a l
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Your Notes FeLLCER Solve and use a formula

The interest I on an investment of P dollars at an interest
EX rate r for t years is given by the formula | = Prt. ~

_—

qz = in-kre;‘:.‘f '5}915

olve the formula for the time t.

i vy Use the rewritten formula to find the time it takes to
P = Invesiment b /  earn $100 interest on $1000 at a rate of 5.0%.

‘= \ A-lge/a:ﬂ‘ f:;‘-j;iwn Solution e Solve Lo~ 4o %e;\— a Newl
8 (% > a. | = pd) Write original formula. formola

= \] €ors i
& =t g L Divide each side by ¢,
Foamoley 1= Pav PR P T

5> b. Substitute $ioo for I, $1c0a_for P, and 5% forr

in the rewritten formula. (—% .05
t= . Write rewritten formula.
¥ |00
/oo S g iy = -
+ = :| Substitute. = S
/00O || .08
P =0 Simplify.

It will take ={ years to earn $100 in interest.
.

0 Checkpoint Write the equation in function form,
@2 +y=5 (2)3/+ 3y = 9 — 6x

(4=-2x+5) W3y =)

S7Y =~

0 Checkpoint Complete the following exercises.

<

e ~ OSolvea+by—cforb ol i Vs Lie
Homework - . | ¥
) Teﬂv\

4. In Example 3, solve the equation for P. Lonstent
investment P if[l = $40@Jr = 4%’ andlt = 4 years Les?

104

S i

\) Usethe formols

e de o N e -[ormuif- an Swe ¢
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L\TERAL EQuatiom (wride senlence \_

Te Selwas X * gon  Rust
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